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Unit 8 Review: Arc length, Sector Area, Surface Area & Volume

On this assessment, you should be able to...

find the areas of basic geometric shapes
find arc lengths and sector areas

find the volume of prisms, cylinders, pyramids, cones, spheres, and composite figures.
use surface area and volume formulas to solve real-world problems.

Find the area of the following polygons.
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Use the given information to find the value of x.

14. Area = 39 cm? 15. Area = 12 yd?
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16. %se find the length of 4B.
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17. Please find the area of the sectors formed by £LACB.
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18. The diagram below shows the area of a lawn covered by a water sprinkler.

a. What is the area of the lawn that is covered by the sprinkler?
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. The water pressure is weakened so that the radius is 10 feet. What is the area of lawn that will be
covered?
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19. Find the perimeter of the region.
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20. The area of © M is 260.67 in>. The area of sector KML is 42 in®. Find the measure of ZKML.
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21. Please find the surface area of the figure below. > |
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22. Please find the surface area of the figure below.
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23. Please find the volume of the cone (the diameter is 10 cm). A\ h
V= 3 ?
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26. A grain storage tank is called a silo. A silo is the shape of a cylinder covered by a
half-sphere as shown. The height of the cylinder is 50 feet and its diameter is 80

ft. Please find how much grain the silo can hold. 50
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27. Please find the volume of the figure shown below.
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28. Jon’s favorite snack is Pringles. The container has a volume of 223 in®. The height of the canis 7 mas the
radius. What is the radius of the can?
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29. A rubber shell filled with air forms a rubber ball. The shell’'s outer diameter is 65 millimeters, and its inner
diameter is 56 millimeters. Please find the volume of the rubber used to make the ball.
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30. Kristin is ordering a circular cake for her party. The bakery labels the different cakes by the distance around

the cake, rather than by diameter. Kristin ordered a cake that measured 27 inches around. If the cake was 4
inches tall, please find the volume of the cake that Kristin ordered. ' )
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31. Robbie brought cheese and crackers for lunch. The wedge of cheese he brought is shown below. Each side

of the cheese is 3 inches and it is 1.25 inches tall. If there are 336 calories in this piece of cheese, how many
calories are there per cubic inch?
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Open-Ended Problems § 1. h2s Y2

ho= 42
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32. A sporting goods company sells tents in two styles, shawn below. The sides and floor of each tent are made
of nylon.
Pup tent Tunnel tent
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Which tent requires less nylon to manufacture? .
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33. A steel water tank is a cylinder with a diameter of 30 ft and a height of 18 ft. To prevent rust, it is important
to keep them painted. iIf one gallon of paint will cover about 350 square feet, how many gallons of paint are

o - 2(3.10(s™)) * 23 WYis )Xi8)
o L TR AR L
= B0tk A
3\0‘%\\0/550 x 3,99 Gp)S

34, Mr. Butterworth baked a cake in the shape of a cylinder. The cake had a diameter of 9 inches and a height
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)( Find the surface area of the figure shown below.
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36. The surface area of an orange is 78.5 in”. Please find the approximate volume of the orange.
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37. How much air is needed to fill a standard basketball with a diameter of 7.2 inches?

5 Sl N = %(3.&&\(’:-103)

- 145,23 u3

38. A pyramid is enclosed inside a prism. The pyramid and prism have equal base areas and equal heights. If
the volume of the prism is 60 m?, what is the volume of the pyramid?

\I = Jé (’JO):Q_OMS

39. A cone shaped hole is drilled out of a hemisphere with a radius of 4.5 inches. Please find the volume of the

remaining solid. (‘L‘LCM’—\)(% 55)> 3 1 (48 \(‘-I— . ))

= 1407 - 4518
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?O li’lease find the volume of Fido’s doghouse.
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41. A pharmacist is filling medicine capsules. The capsules are cylinders with'_‘r__@l_f spheres on_e_a_u_c_h_:'é‘hd. If the
length of the cylinder is 12 mm and the radius is 2 mm, how many cubic mm of medication can one capsule
hold (round answer to nearest tenth of a cubic mm)?

Py A _ 4 &, P
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- 233,49 + \60."11
¥ (g4, 2\ mw’\

42. A cone has a diameter of 10 inches and a height of 12 inches. The height of the cone was stretched to 15
inches. What must the radius be if the new cone still has the same

volume? V= .33-“-{ 2 l,\
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ANSWERS: 10 — ——
1.) 120 u? 2.) 120 U7 3.)81u’
4, 884’ 5.) 66 u? 6.) 48 u*
7.) 192 u? 8.) 75 u? 9.) 224 u®
10.) 426 u”> 31¥ 11.) 273 u? 12.) 302.22 u®
13.) 166:92 u* 270 14.) x=4 15.) x=2
16a.) 6.28 cm 16b.) 47.1 in 16¢.) 7.33 ft
17a.) 9.07 in’ 17b.) 826.6 cm’ 17¢.) 427.72 m*
18a.) 301.44 ft* 18b.) 117.75 ft
19.) 24454 u 20.)57.6°
21.)B 24.51 35.) 456 ft
22.)A 36.) 65.42 in’
23.)C 37.) 195.3in’
24.)A 38.) 20m?
25.)C 39.) 95.4in’
26.)D 40.) 48.8 ft*
27.)B 41.) 184.2 mm’
28.)C 42.) 4.47in
29.)B
30.)B
31.)C

32.)Pup Tent SA=247.4 fi’

Tunnel Tent SA=214.7-ft*

The tunnel tent requires less nylon
33.)8.9 gallons of paint
34.)204.9 in?



